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QUESTION 1

What is a valid reason to choose an 802.11a wireless implementation?

A. It supports a large range (distance) from the AP at a given data speed

B. It has fewer available channels than 802.11b/g, enabling easier deployment
C. It has transmission speed higher than 802.11n

D. It will not interface with an 802.11b/g installation.

Correct Answer: D

QUESTION 2
How does a switch treat a link aggregation?

A. The switch treats each interface within the interface as a separate entity for MAC address learning; it also assigns an
individual spanning tree port role to each interface.

B. The switch treats the link aggregation as one logical link for spanning tree, but it learns MAC addresses separately on
each individual interface within the aggregation.

C. The switch treats the link aggregation as one logical link. It assigns one spanning tree port role to the link
aggregation, and it learns MAC addresses on the aggregation.

D. The switch treats the link aggregation as one logical link for MAC learning, but it assigns an individual spanning tree
port role to each interface within the aggregation.

Correct Answer: C

QUESTION 3

A server connects to a port on an HP Comware switch. The network administrator wants to ensure that:
Which statement describes how the administrator can accomplish this?

A. The administrator must manually configure the port as an STP edge port.

B. The administrator can lower the port\\'s root path cost to zero.

C. The administrator can accept the default behavior of auto-edge.

D. The administrator can configure the port as an MSTP master port.

Correct Answer: B

QUESTION 4
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Which ProVision configuration includes 10.0.3.0/24, which represents VLAN 30 in OSPF area 0?
A. vlan 30 ip ospf area 0

B. vlan 30 area 0

C. interface vlan 30 ip ospf area 0

D. router ospf area 0 vlan 30

Correct Answer: A

QUESTION 5

What is true about the community string used for SNMPv1 and SNMPv2c?

A. The community string encrypts the SNMP message, but does not hash it, providing for data privacy.

B. The community string hashes the SNMP message, but does not encrypt it, providing for data integrity.
C. The community string encrypts and hashes the SNMP message, providing for data integrity and privacy.
D. The community string is like a password transmitted in cleartext, providing no data integrity or privacy.

Correct Answer: D
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